11”141 (Kl 17’1,141)

. /\E Linearized knot diagam

11fj Solving Sequence

84>4HQH13ﬁ26114’6*’10ﬁ7ﬂ>01707709
A knot d1agranf| Cs  C3 C2 €11 €5  Clo  Cp

Ideals for irreducible component#ﬂ)f Xpar
It = (—u" —ub —6u® — Tut —9u® — 15u? +4b— 1, a — 1, u® + Tub +u® + 14u* + 4u® + 50% —u + 1)

I = (—u® + 2u* — u® 4 5u® + 5b — u, u® 4+ 2u® + 2u® + a4+ u+ 7, u® — u® + 4u* — 4ud + 6u® — 4u + 5)
Y= +bu+1,a+1, u?>+1)

* 3 irreducible components of dim¢ = 0, with total 18 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(—u" —uf—6u’—Tu?*—9u® —15u? +4b—1, a — 1, u® + Tu® +u® +
14u* 4 4u® + 5u? —u + 1)

(i) Arc colorings

1
o= (gt 1)
u? 41
az = \y?+ 242
1
o= (gt y)
%u7+%u6+~~+17%5u2+%
an = \dy7 4 Lyb g a2 1
(—%u7+;u6+--~—%u+;)
= 7 5
6 —gul — Ut gu— 3
—tuT S 3y 2
a0 = %u5—%u4+~ —|—2u—%
u
o= (g y)
u
o= (g )
(ii) Obstruction class = —1

(iii) Cusp Shapes = —2u” — 2u® — 13u® — 15u* — 25u® — 30u? — 12u + 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,C4 u® + Tub +ud 4+ 140t + 4 + 50 —u 41
C7,C8
C2 u® 4 14u” + 77u’ + 205u° + 260u* + 1400 + 61u® + 9u + 1

€5, €6, €10 u® + 3u” + 9u® + 1665 + 23u* + 2403 + 18u2 + Tu + 2
C11

Co u® + 4" + 2108 + 244° + 109u* + 14203 — 10u? — 23u + 24




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, 3, Ca y® + 14y™ + 7795 + 205y° + 260y* + 140y> + 61y> + 9y + 1
C7,C8
C2 y® =42y 4+ 4 4ly+1

€5, C65 €10 y® 4+ 9y” + 31y° + 50y° + 47y* + 643> + 80y% + 23y + 4
€11

Co y® + 41y + - — 1009y + 576




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape
u = —0.405950 4 0.5905471
a = 1.00000 6.99421 — 1.464971 5.63406 4 4.721651

b= —0.00585 — 1.549911

u = —0.405950 — 0.5905471
a = 1.00000 6.99421 4 1.464971 5.63406 — 4.721651
b= —0.00585 + 1.549911

u=0.195934 4 0.3490551
a = 1.00000 0.133570 + 0.9025621 2.84755 — 7.783661
b = —0.218002 + 0.4553381

u=0.195934 — 0.3490551
a = 1.00000 0.133570 — 0.9025621 2.84755 + 7.78366.1
b = —0.218002 — 0.4553381

= 0.33222 + 1.784811
= 1.00000 —9.04281 + 7.803491 0.02756 — 3.215591
—0.34865 + 1.601071

0.33222 — 1.784811
= 1.00000 —9.04281 — 7.803491 0.02756 + 3.215591
= —0.34865 — 1.601071

U
a
b
]
a
b

u = —0.12220 + 1.916341
a = 1.00000 —16.1792 — 3.03791 —2.50917 + 2.220031
b= —0.927504 — 0.5970031

u = —0.12220 — 1.916341
a = 1.00000 —16.1792 4 3.03791 —2.50917 — 2.220031
b= —0.927504 + 0.5970031




IL 1Y = (—u® + 2u* —u? + 5u? + 5b—u, u> +2u3 + 2u? +5a+u+ 7, ub —
u® + 4u? — 4u® + 6u? — 4u + 5)

(i) Arc colorings

R R
Cio 3 o Y7 s o~ — TN
| —ho | 7,51,5 oho el o — oho | oho
s+ = CE o _u _u w ,u
—hot —ho N 3 3
| ,u | 2u ,u 7.,,:L~i(,5 6,u595 Dono Nuvoho
- ™M+ + ++ 4+ 4+ T
-3 © [ 3 :
—ho ™M —ho .
" + oy o+ ++ ++ + - + -
2,54u 7 N\ Ao 7 4u 4u 4u 4u 4u 4u 3 4u S
e G A S g QW o —horiho A
Luwsu, +H5u A N N _5_ ,5,
S e, @ o | o w v w0 0 S 10,0
3 S 33 33 3 3
ﬂlO/ MIU/ — Y RS S s s o AN —ieho ahe T e
T o o o N
[ I I I I I I T oy I
1) 0 < =) — foe) ~ — © = I~ ~
S 3 3 S 3 S 3 3 S] 3 S) S
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(ii) Obstruction class

u+ 2

24
5

u® + %u‘l — 25—4u3 +4u? —

4

5

(iii) Cusp Shapes



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C3,C4 w—w® Aut — AP 60 —du+5
C7,C8
C2 u® + Tu® 4 20u* + 34u® + 44u® + 44u + 25
C5,Cg,C10 (u3 _ u2 42— 1)2
C11
Co

(u® —u® +1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 Y% + Ty® + 20y* + 34y> + 44y® + 44y + 25
C7,C8
Co Y% — 9y + 12y* + 38y® — 56y2 + 264y + 625
€5, C65 C10 (1 + 3y% 4 2y — 1)?
€11
C9

(y® —y® +2y — 1)?




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV —1(vol + /—1CS) Cusp shape
u = 0.862082 4 0.7853891
a = —0.873959 — 0.9788541 | —0.26574 + 2.828121 1.50976 — 2.979451

b= 0.215080 — 1.3071401

u = 0.862082 — 0.7853891
a = —0.873959 + 0.9788541 | —0.26574 — 2.828121 1.50976 + 2.979451
b= 0.215080 + 1.3071401

u = —0.377439 4 1.1947301

a = —0.818504 + 0.5745011 | —4.40332 —5.01951 4+ 0.1

b= 0.569840

u = —0.377439 — 1.1947301

a = —0.818504 — 0.5745011 | —4.40332 —5.01951 4 0.1

b= 0.569840

u = 0.015636 + 1.530251

a = —0.507537 — 0.5684541 | —0.26574 — 2.828121 1.50976 + 2.979451

b= 0.215080 + 1.3071401

u = 0.015636 — 1.530251
a = —0.507537 + 0.5684541 | —0.26574 + 2.828121 1.50976 — 2.979451
b= 0.215080 — 1.3071401




L. 71¥ = (%> +bu+1, a+1, u? +1)
3

(i) Arc colorings

o= (o)

ag —
ayq =
ag =

a; =

(

(

(

(+)
u-(5)

( 1

(

(

(

(

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 (u2+1)2
C7,C8
C2 (u+1)*
€5, C6, C10 W +3u+1
C11
C9

(u? —u—1)2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 (y+1)4
C7,C8
2 (y—1)*
€5, C6, C10 (y2 + 3y +1)2
C11
cy

(y* — 3y +1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +1/=1CS) | Cusp shape
U = 1.0000001
a = —1.00000 —2.30291 0
b= 0.6180341
U = 1.0000001
a = —1.00000 5.59278 0
b= —1.618031
U = — 1.0000001
a = —1.00000 —2.30291 0
b= — 0.6180341
U = — 1.0000001
a = —1.00000 5.59278 0
b= 1.618031
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IV. u-Polynomials

Crossings u-Polynomials at each crossing

€1,€3,C4 (u? +1)2(u® — u® + 4u* — 4u® + 6u® — 4u + 5)

€7, C8 (B 4 T P 4 14ut 4 4+ 5u? — 1)

Cs (u+ 1)*(u® + 7u® + 20u* + 34u® + 44u® + 44u + 25)

- (u® 4 140" + 77ub + 205u° + 2600t 4 140u® + 61u® + 9u + 1)
€5, C6, C10 (u® —u? + 2u — 1)%(u* + 3u® + 1)
c11 (u® 4 3u” + 9ub + 1665 + 23u* + 24u® + 18u* + Tu + 2)
Co (u? —u—1)2(u® —u? +1)?

(u® +u” 4 2168 + 24u° + 109u? + 1420 — 10u? — 23u + 24)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
’ 4/ 6 5 4 3 2
C1,C3,C4 (y+ 1) (v° + Ty° + 20y™ + 34y° + 44y* + 44y + 25)
€7, C8 (y® + 14y + 77y5 + 205¢° + 260y + 140y° + 61y% + 9y + 1)
s (y — D)*(y® — 9y° + 12¢y* + 38y> — 56y + 264y + 625)
(42" ALy + 1)
€5, C6, €10 (y% + 3y + 1)(y® + 3y% + 2y — 1)?
1l (% 4 9y + 3195 + 509° + 4Ty + 641> + 80y? + 23y + 4)
C9

(W =3y +1)*)(° —v* + 2y — 1)*(y° + 41y" + --- — 1009y + 576)
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